‘ MITSUBISHI
AN ELECTRIC
=E /-t 1-AEHEE - RSk
VIRIEE >CEURESEE

CRADFZIC, ELKRZLBEVWELTS,
CORREREZUTERH SN,
ZOHEANIFEL, DBREEEBTH L

LS OBE(IRE )R, ERTEE R A,

THEEILR {RFEZ R IEC 60529 IP65
, BHER ZETE (mm) o7 SR
i NFB [ % | N [EE AlBICIDIE T\"jgj ERER R
ENES R 3)Fwh(23) )N \—
VASVEINFI25-0v [2:3-4]  — | — | 39|30 |172[305| 86 | F (1) ‘M4
2)IR{EABERS HERIEEOTH 3BA(13)
RUQ27):(c) B U(EE) 4810
VAW INFas0.0v 234 — | — |41 |35 2ot]arspoos o | <7 MAX2 M5X16(2%)
EFLIERMACEN RN EREVET, KRB AEORIERLON Tk
BE () BEXUEREHTIEED DRENMESIRNE T, AL CREY R

(2) EEEcE LB R ELIA OB ICIXERTER B A,
(3)ERfH1aL D (a)(b) Bk BB T A ER DB (HIEZ R ULE T

S ER 2 B ERER {7 CBE <A

M4x55(2,31(& 27, 448(347K): (a)
M4X73(2,3BDH#17) : (b)

— KRBT AR
veprss  BETERE DT EHTEE ST EHTE 2R B L
:EBT[T @;@ °T EmgLoT R ;Eliﬁast:fc" AfFEoToR
e e - r*%ﬂ _ odb | @o -
@ | ! @y | @t TN 3
gl |0 | RN \ L ©
oFEL | A 5 Ne.
W ~=%
ok ol gkt
SN
b At =i
IN ] [ %
| @1 I ! @) (@) 1
I ‘ SR B H} PRI i
LN L EeVY =%
__|B B|B |
16 - M4x0.70 . Plicdiiits
Ry 1 2,318 4R - X 1 X
90 54 126 2 —

* LB, i&l&ﬁ%&g)ﬁﬁﬁﬂ@%k
A\ |[EC ssmmL—-1BtcopmETEEEA| L ERBEORRE LT
OXRTREERIERDKLSICIFOTVE T,

N % RBVEE-IEA(C. BRAKIIEIDZ T PEEDEEORESE
/ S/EE,Q,\ BRI AR NS B LUYNIBER T ORENEEENZHE,

® B EEKT DT, 0 RFIETRICUIDST, A BEDRECHBVTRE

BRICULEVWTL RS, ToTLLEEELY, DUEERZEIET B,
1. IP65SEREDTEHICHTHBFOLEEL)
/_\ ==
/EI%\

0 (NEOEGETRIEE OTHMIC, TEENFELETIHEGIE. BOMBZEL TS,
(QB(ELOTEDIE, EEDEMRUICKD, RED MNLI THERICIDDIFTLIEE L,
Q)RIRDINEAIT & RARNATARICH ST, MILTLREE L,

V-1UV, V-1UVE V-2UV, V-2UVE
el AN E ATHIC: )
@-+-3.5X10 ffifd bL2 :1.2420%N - m
@-3x10  #ftMLS:0.6~1.0N-m

@EEEOTICRMRDIER NN\ —ZEUF T T,
CER g N B RUIRERRER AT
DLTWebDZEFERLTLEE L, )

V.

i

fEgn/—BIau2s) o
LY 0.6~1.0N-m k&

wan)_ BIEESTHRRUERH)
itz oaTAN M5X16(2%)
FILS 2.5~3.5N-m

(2) BIFEOTER ) -

TERICRIIRIEE O TBDABDTHNTLEWVES.
EEEHUBEIC, BIEE > TEERDE—IL RERR®
BEERDFIET 2B ZNHHDET,

BEC OTEDIF, RIRDJNEBIFDHRDICED KL SEADNS

IV I R UZ RS U3 E 9, Bff(3 e, Tacz

HERUCELSEELBLVES(, BFEoTEZ LT E

ACHNUCHELT L,

HER, RIRZRFTEMHLTLEEL,

(eI ‘ )

@ ON - OFFR{ENRAL—XICTEDT &,

@ OFFIREEN'S/\V RILZONAEIC U (5° 2 E)EER
&t BATH>KHRDOFFRTMIBICEAC L,
B, COREN S\ Y RILICU Y MIBOEN/%Z
MZ. OFFRMAUBHEDSEWVNE,

® LY —XRECRIRZHT, ZOFERNNEATDTE,

@ BIEEOTED BB ETATCTH D &

BEEOTH

NRIL
iR

O REE: - - DERICTEMBLTIIEEL,

5. ffE B AR E(mm)

(1igfEE T “ C.l| memEmRRECEELEL.
OFFRIBOH TIRED Y Y HEIRETY, I & @ lAwossl B G
RO R (A=35,40mm) hi35BUtITEET, M % 19 :

Oy 79 N\ZAASF—ZA0v ) oERTETT. n 21478

AR COREL>THOOYI T, FBOVIENET, 40 |22%7:1323] 55,6
NYRIY Ovs7U—k A | CHE BRASMMOYA AW ERTERT,

Ot |

Oy I TU—hEBEE OTHDEMNG SMBEE T
NYRILVZEU Y MFEICEL®), OyI7U—hEHT (@)
ZOFE/\Y RILZOFFAIEICRU(®). /\ RILFRRDIRIC
BAREEEUERLTLEETL®@)
F.Ovo7U—NORESHNSEHENELHDHEHHDFETH
I\ RIVPROTNDBEEEDFE TRIELTLEE LY,
OfERRTTE o
BREZRDEFLOYITU—MITICRSET
Uty MFEANEILTL W, (Ov T FU— M\ RIL
FRONEHTVNTND EFEERL T EELY)

()R -
EORVERETERSZERATERNEL S, OFFMIBTOH
BRI ECLBIESED AR T T ARDKSICLockNICHREELEZ
BUTHESEL TS, \
(ARG LR VEOHERIITETY, HUEA=3540mmODRRE.
Ovo7I9N\ZATY-X0Oy ) bMERTRETT)

2. FEHLDTEE
() BEOERICY Y F—HEDERARFERALENT L,
Q) FRNENVRETIREEL —y MDY v MR UET,
BADEREEEICY 17 NCERELENE 3SR L,
Q) FNELV R ECOTRIPEER. BB LUy v NEYHEELETOTTER L,
(4)REEU BB, BIEE >TON\Y R BEEEREORECA T TELTIE L,
ON- OFF - TRIPDEDRETHRERE U AT EMTEET,
(5) B >TDINY RILIZSN - M FOATEELT 2L,
(6)RO Y TRl BORSBERIST IREEGLTADE LA, BEDILHSEHET
BOREEELT 0,
(7 BESEDY & L REETERERIU T (6) EREDBENL I8 CRELISE. MIBORREBDET,
() B  BRAHERST. RHCHD DI e EERENCEEE A
(9)OFFIRRET R w7 LW TL EE LN,
/N AOBENBENTOSE X, BRORBBICHNGENESICLTREL,
(1) BFEIEE - RFEREEZOMOEE R, =8 /— 1— B EORBEEFICRHLTVET.
O (12)ON- OFF - RESETE{EERHTILDENTL LN,
A (13) )\ RILHOFFBOKF)CH DT EERRD L. BEBMVLTIZEL,

o bbb ebbo

Jaqvh Us
3. BEOHH o
(DREOY IHERE - OFFfiIETOHFEOYIHTARETT,  voorey /

QEDy i - OFFECEERCCLHTTST.
S)EMFEEI T - MR B =
(4)REZRIEC 60520)(2IPB5TT, #EL=Y MV-ADSS)
(5)RICE" N O BRIFIEHELATT., d_
N RIS, T0Y MR-ADEECBEOET, ”
(6)4 7Y 3V DRB1=y NERIEBICERTHTLET,
OB DL B ENORN I IR H0FT,
(DEHED N TS S DR IBL R C R IEE S TREL DA TT,
NI RS DB I K> TREDET,

4. BYERE
(IRVESDESF
ERTES S BIEE D TDRIER ZRDEB CRFIFFE T
03—:% SEMEREOFFDREEICLET,
OEMRERICOVTVSIEEN/—EBRDIEFLET,
(/I%zx . 'ﬁﬁt/ \—Hﬂﬁhb’éﬁ('&ﬁ“&ﬂ: e yahe: Il
FELTLREN,) (2%) o

bUYTRS V(D4

V-1UV, V-1UVE

@EERORSHEINE (O] DE[CEE.
EHROREEBRUE S v MRz
RO ZRMAIET,

1&g h)—

@BMBRAU(2, 38 3%, 48 4K)T GISMIDT o\ B

ERES T BCRAITEY, M4x55 B

/

T NgreoTmAFYb
MACAED : 2R <

=
EREmTaL U
FTNLT 1.2£20%N - m
M4X73--4BOBEEMAX55 EEi BB \—ERFTEE.

i
A Y REE@E
b YO s RAFARSA )15 E TRED
BEBRTL e = ) FENFELTLEAI
FftNL2 1.2£200%Nm - A/ BIERNTREL,
ey

p EIRSETRL
M4x62 ;// @IS 1.2420%N - m
M4x55 2

6. EOv IS

(1)ONTRIPOAIETIEENBNEL, 4 VF—Ov IEBE BRI TVE D,
OFFDfIECIFENIHEE T,
12U, ON-TRIPOAIET, LU—XZTEW3mmM, EE1.8mm)iEET
REOF@ICHESEERIENTERT,

Q) EOvImEE F'(N)

& EOYIOMEEFR)Z, BESOTORNLT200NTT,

200NBIEDFEN DD &, RIBTHEENHDF T,
BEOWACKD, BEULTTEALEE W, MEEF'(N)=FXX,/ BOYE

ey

HORPS

7. @ARI-—w K (V-AD3S A7V 3Y)
BESRICEAR I —w MEEBETACET. RIROE S HFEEOREICEDE T,
EMSERMATELSRROSSICEDE T, ABRIZY DY+ I REYIRILTEELY,
ST 2MAREE > TICIRERATEE A

(M ER

Q)2 +T7 bOYIEREE

Ny
2| Gre) | —
2/\162 E#R) (P max) (BBD~E)
BA300 X =300mm — P :V-1Ux, V-2U*
YvIh 7
n
( Y,
v X
175 Ui

2.934 Y MR

TREDELET.
@5 Fh)
@Eﬂﬁd)t
/3’]’)'\ jl ﬁ :~ 0y
L N YpIh A/&" ;
YIMIMEIR I o Sromre & 3YaAYNEYaLYRD
EEROE Y EANT BOCY v 7 MEEER(c ZAIET,
aHET, HPETHALTKEE L. M5X10(44FR)
EEROEYEIYIND  @RLS2.5~35N m
EvEE—AmlcahET
BmALTLIEE L,

LN106A856H06
IB63A91-F 1605(MEE) -4~

=EERURI S



MITSUBISHI
ELECTRIC

this pap
type Op

For correct operation,please go over

er "Instruction Manual for V
erating Handle" beforehand.

MOLDED-CASE CIRCUIT-BREAKERS
EARTH-LEAKAGE CIRCUIT-BREAKERS

| There is no other application except above table. |

INSTRUCTION MANUAL FOR V TYPE OPERATING HANDLE

Breaker type applicable

IEC 60529 IP65

Type [ Breaker type applicable Dimensions (mm) _[Position
name | MCCB [ pole | ELCB [pole| A | B | C| D | E lsuiion Attached Parts
V-1UvV . 2. _ _ 1instruction Manual  3)Operating unit mtg.  5)Insulating cover
V-AUVE NF125-UV|2-3-4 39|30 [172(305| 86 | F (1p0) nuts(2pcs): M4
%
2)Operating unit mtg. 4)Handle unit mtg. 3-pole(1pc)
V-2UV screws(2pcs): (c) screws(with Washer) 4-pole(1pc)
V:2UVE NF250-UV|2-3-4| — — | 41 |35(201|3751005 G /4 M4x62 (ZpC):MS‘IG

Note1 Please confirm whether the delivered product is the same as the order's one.
2 Please contact us for other models except above table.
3 (a) and (b) of the securing screw is shown the location for Drilling Plan.

%The Circuit Breaker's attached screws
Breaker mtg.screws
M4x55 (2, 3-pole : 2pcs, 4-pole : 3pcs): (a)
M4x73 (2, 3-pole : 1pc) : (b)

Outline & Dimensions Drilling Plan FrontPlate
Cutout Dimensions
Center of Center of
Breaker preaker handle breaker handle Center of the
| ¥ e breaker handle and
‘ 10 | & R il operating handle
| Front plate i(a) 1 (b) ! () | @ ! I $9
| | | | ‘ ‘ | Centerof |
\ , Centerofy | |y |11 | |breaker ——,
| | — —
. Centerof [\ _\
%\'ﬁ ‘ \}F T j} ol } % % } o operating{P | &
& handle i
7A] ofl [ 1 B} IT ] AR
e e | R
B\ [ [ ront plate
At #4 9L | e ==
T 1 l@; [l |Plate L*”g@ L”E“B J # [ \ i%
utton, i L = =
16 1q'02k3§525 Center of 4 f i
T'; 28 = A 61 operating M4X0.7 screw M4X0.7 screw | gft Right
bufon - handle or 5 or Hinge —— Hinge
90 54 125+2 Cirguit
2,3-pole 4-pole bredker
X
|It b dwhen the IEC 35 i i | K X Upper figure shows the relative
[5 cannot be used when the mm rail mounting. iti i
g 0 or higher | (5K+100) or higher Sgiv'ﬁ':gf‘:f,;f?:;g;?d”f hinges,

@The marks used respectively mean the following

/INCAUTION

accidents or serious injuries assumed.

Wrong handling can cause dangerous situation in whichi possibility of fatal

Be sure to follow these
instructions without fail.

This means prohibition.
Never ignore this indication.

O 0

A\

Warning for possible electrification
under certain conditions.

1. Be sure to follow for the performance of IP65

/N\ CAUTION

(1)Please the door of the door when the space is generated by the distortion
(2)Please tighten the screw of the handle unit surely by a regulated torque.
(3)Please front plate cutout according to front plate cutout dimensions.

etc.of the door.

V-1UV, V-1UVE

@®Mount the Insulating cover contained in the package
of the Operating handle.
Note : (Insulating cover mtg.screw should use what
was assembled to the breaker.)

Insulating cover
mtg. screw(2pcs.)
0.6~1.0N-m

(2)Handle unit

When adjustment of Handle unit is not performed
as follows, the molded parts of
Handle unit and KAITENBAN may be broken.

Mount the handle unit on the front plate by attaching screws from back

side temporarily. The handle unit should be disposed in positions on the

center of the front panel.

Adjust the handle unit in every direction after mounting, if it does not

work properly with the action below ;

(MON and OFF operation should be carried out smoothly.

®@When turning the handle from OFF state to the right in a few degrees,
it should be returned automatically. Also it should be kept indicating
OFF state even if applying light loads in the reset direction.

®When opening the front plate by release operating, it should be closed
smoothly.

@The operating handle should be parallel to the breaker.
After adjusting, tighten the screws completely.

9. Lock Mechanism
(1)Handle unit

The Operating handle can be locked at OFF position. B )

It can be used the up to 3 Padlocks(A=35,40mm) or C Dimens

the Lockout Hasp. When the operating handle is locked

Insulating cover

V-2UV, V-2UVE
Insulating cover mtg. screw(4pcs.)
®+3.5x10:1.2+20%N - m
©3%10 :0.6~1.0N-m

Insulating cover

Handle unit mtg. screws(with Washer)
M5x16(2pcs) - « +2.5~3.5N-m
Front base

Handle

@Padlock (to be furnished by customer)

ion of Padlock (mm)

Use any Padlock available in market.

in the OFF position by using the Padlock, the door ) | Application |A(Noma)l B C
cannot be opened. Handle Lock plate
Padlock—|—| ¢ i All 35 19 >
1 types 40 [220r23] 55,6
\ w Dimension C:8mm or less can be applied.

@®How to lock the Handle unit

Turn the Handle toward the reset position

at the mark of case.(®) push the Lock plate(®).

return the Handle in OFF position(®).

Use the padlock through the Handle's hole to lock the Handle.

Note : The Lock plate operation-middle to operation load
may become heavy.
Please operate it until the hole of the center of
the Handle has opened.

@®How to release the OFF lock
Please detach the Padlock, turn the Handle to reset
direction until the lock plate return to the former position.
(Please check that the Lock plate has plugged up
the hole of the center of the Handle.)

(2)How to lock the Operating unit
The Operating unit can be locked in "OFF" position.
Insert a Padlock into the Lock hole in OFF position only,

and lock.
A 35,40mm Padlock or a Lockout Hasp can be used.

Shaft unit

2. Cautionary instructions for operation

(1)Do not use organic solvent to clean the Operating handle.
(2)The shaft of the adjustment unit comes out when the Front plate opens.
Be careful at the check in the enclosure.
(3)Be careful that the KAITENBAN and the shaft pin rotate when the Breaker is tripped
under opening the Front plate.
(4)Close the Front plate in the state that the Handle positionis united with the Breaker side.
(5)Operate the Handle with the power of 5N - m and under.

Please fix the door of the enclosure with the detent tool on the enclosure side.

(
(8)It can not be operated when the mounting direction LINE and LOAD is mounted accidentally.
(9)Should not trip operation to OFF position.

(10)When the door is open, should not touch the live parts.

(1)

(12)Do not stop the turning ON - OFF and RESET operation on the way.

(13)The door is opened after confirming the handle is at the turning off position.(The horizontal)

O
AN
A
0
ZAN
A
A
O
A

3. Specification

Pin of KAITENBAN

(1)Operation Lock Mechanism -+ OFF-position lock.
(2)Door Lock Mechanism -« The door can be opened with the OFF position only.
(3)Mounting direction +-sseeesseeeseens Vertically type(ON side of breaker is upper)
(4)The degree of protection (IEC 60529) is IP65.
(5)The products of which Cat. No. include "E" are for emergency stop equipments
and they have red Handle and yellow Front base.
(6)Using the Adjustment unit as a option, it can be mounted to the different depth Panel.
(7)When the trip button is pushed with the door opened, the breaker does trip.
The position of the trip button is different in the type name.

4. Installation for Operating handle

(1)Mounting the Operating unit
Mount the Breaker and the Operating unit in
the following matter.

Note : Make a breaker OFF position.

Insulating cover
(MRemove a Insulating cover before installing of the mtg. screw (2pcs.)
Operating handle.

(Note : Be careful not to lose insulating cover mtg. screws.)
@Adjust the protrusion for KAITENBAN to [O] mark position,
mount the Operating unit on the Breaker by Operating unit

mtg. screws and Operating unit mtg.nuts.
(®Mount the Breaker with Operating unit on the board by
Breaker mtg. screws(2,3-pole : 3pcs, 4-pole : 4pcs).

o
...‘.

=

cover
Breaker mtg. screw
1.2£20%N-m

M4x55 Operating
1 unit

Protrusion for
KAITENBAN

Breaker mtg. screw
1.2+£20%N-m
M4X73:-M4x55(4-pole)

Operating unit mtg. screwy
1.2£20%N-m

M4x62

Pin of a2
KAITENBAN, P 1.2£20%N-m
M4x55

6. Door Lock Mechanism

(1)The door can be locked in ON and TRIP position,

and opened in OFF position.

It is possible to open the door in ON and TRIP position

with pushing the Release parts.(Tool size : width 3Xthick1.8mm)
(2)Withstand load to the door interlock

Withstand load to the door F(N) is 200N on the center of

Operating handle.

Otherwise, The operating handle may be destructed.

7. Adjustment unit (V-AD3S OPTION)

Adjusting the height of the Front plate by installing the Adjustment unit in

the Operating unit becomes possible.

Please cut the Shaft of the Adjustment unit from installation plane of Breaker
according to the height of the Front plate.

Note : Operating handle for 2Poles cannot be used.

Trip button(¢4)

(6)The door lock mechanism doesn't have strength by which the entire door of the enclosure is maintained.

Joint

Shaft

K Operating unit mtg.nuts

M4(2pcs.)
/ Excluding two poles

(@ U-form projection

Breaker mtg. screw

Release parts

Front plate

7)Don't operate the Handle unit under closing the Front panel, when the condition of the Operating unit was locked.

" Insulating
cover

B

Y

Push the tip of the U-form
projection fully toward
the arrowed direction by
the screw driver etc.and
pull out the insulating
cover sliding the upper
direction

Normal servise condition - maintenance and others have been described to Handling and Maintenance for Molded-case circuit breakers.

2-

Circ‘:uit
breaker

X |

Size of door

(1)Outline & Dimensions (2)Shaft cutting
Frontplate Frontplate
| |
|
|
if
Plate I |
thickness D
1.2~3.2 Cuttiné Encl
= , nclosure
Min.162 length P max depth
Max.300 X =300mm — P:V-1U%, V-2Ux*
Shaft o)
n ]
( vz
7 X

(3)Installation

2.Fasten the Joint temporally
by Joint mtg. screws(4pcs)

Pin for

KAITENBAN | & unit

| A
6
1.Adjust the Pin 3.Insert the Shaft until

for KAITENBAN the end of KAITENBAN
to square hole to the space for Joints.
of Joint. Please insert the pin of

Cutting|length

T, ‘i B
z— l &
\ 3}

4.Fasten the Joint mtg.
screws securely.
M5x10(4pcs)
2.5~35N'm

a KAITENBAN, and the pin of

a shaft according to the
same direction.

MITSUBISHI ELECTRIC CORPORATION



